



भिन्नात्मक घातांक का अंकगणित

नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right) + \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^0 + \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{6}\right) = \frac{35}{48}$$

$$\left(\frac{1}{6}\right) + \frac{1}{3} = \frac{1}{2}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{109}{250}$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{2} = \left(-\frac{127}{250}\right)$$

$$\left(-\frac{1}{2}\right) - \frac{1}{2} = (-1)$$

$$\left(\frac{1}{6}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{13}{18}\right)$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{3}{4}\right) = \frac{5}{12}$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{50}\right)$$

$$\left(-\frac{1}{3}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{3}{4}\right) = \frac{371}{500}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{3}{10}\right)$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{2}\right) = \frac{9}{16}$$

$$\left(-\frac{2}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{109}{250}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{3} = \left(-\frac{2}{9}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{5} = \left(-\frac{221}{1080}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) = \frac{13}{20}$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{77}{750}\right)$$